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A B (B./AX100) C D (D~ C x100)
11d6 &8 & 366 4 1.1 0 0 0.0
215 &% B 35 0 0.0 1,029 6 0.6
3|l F B 187 3 1.6 592 3 0.5
415 W B 34 3 8.8 1,722 5 0.3
5% @B B 88 0 0.0 177 3 1.7
6|l B B 347 4 1.2 398 3 0.8
17(8 & B 39 0 0.0 121 2 1.7
8|1% W B 1,297 6 0.5 0 0 0.0
9ty K 1B 262 2 0.8 33 0 0.0
108 & B 577 2 0.3 5 0 0.0
M| £ B 1,365 10 0.7 1,606 14 0.9
12(F ¥ B 3,099 18 0.6 215 0 0.0
13| = #B 92 1 1.1 0 0 0.0
14| = Il B 31 0 0.0 12 0 0.0
15(#H B B 484 9 1.9 15 1 6.7
16 W 1B 190 1 0.5 49 1 2.0
171 )l & 243 0 0.0 1,265 8 0.6
18|18 H B 280 1 0.4 557 6 1.1
9 ¥ B 434 0 0.0 0 0 0.0
20 % B 114 3 2.6 0 0 0.0
21lf B 1B 159 1 0.6 334 4 1.2
2083 WM 1B 1,216 7 0.6 55 2 3.6
23[% %1 & 639 8 1.3 18 2 11.1
24|1= & B 925 1 0.1 50 2 4.0
2% B OB 544 1 0.2 1 0 0.0
26|;R &R KT 238 0 0.0 223 2 0.9
27|k BR F¥ 216 4 1.9 11,349 26 0.2
28| E B 415 0 0.0 1,781 6 0.3
29| B B 225 2 0.9 5 0 0.0
30(#0 Fx 14 B 114 2 1.8 316 1 0.3
31| B B 127 5 3.9 309 5 1.6
3285 H® B 150 3 2.0 969 12 1.2
33(FE W & 218 2 0.9 1,564 4 0.3
Ml & B 2 0 0.0 1,720 9 0.5
B O | 26 1 3.8 7,905 36 0.5
G| B 1B 45 0 0.0 2017 8 0.4
37(& JII B 21 1 4.8 248 0 0.0
8| IE B 650 0 0.0 1,181 10 0.8
95 &M B 40 2 5.0 552 1 0.2
408 M & 227 4 1.8 3,824 30 0.8
4l B B 34 2 59 8,518 46 0.5
RIE B B 206 0 0.0 861 6 0.7
438 KX 1B 303 3 1.0 180 0 0.0
41X o B 199 2 1.0 156 1 0.6
45 B B 218 5 2.3 41 0 0.0
46 [EE IR 2 168 1 0.6 557 2 0.4
4714 B B 329 10 3.0 0 0 0.0
B TR S 17,218 134 0.8 52,530 267 0.5
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481%L 1R T 0 0 0.0 37,097 305 0.8
I & ™ 60 0 0.0 4,902 27 0.6
50| LVvi=F T 673 1 0.1 12,744 99 0.8
51| F ZE 22 2 9.1 0 0 0.0
52148 ;& T 0 0 0.0 22,433 169 0.8
53|)I g T 1,181 1 0.1 8,827 64 0.7
S4|FHE R T 0 0 0.0 86 3 3.5
55|31 B T 636 0 0.0 6,434 47 0.7
56(8% [ tH 428 4 0.9 7377 28 0.4
57 ¥ T 667 0 0.0 25 0 0.0
8|2 H E T 0 0 0.0 10,111 59 0.6
5|3 # T 1,939 10 0.5 3,975 19 0.5
60|k Bx T 3,893 21 0.5 0 0 0.0
E] h 208 2 1.0 5,436 31 0.6
62|t F 1 959 6 0.6 2,842 34 1.2
63| U T 6 0 0.0 717 2 0.3
64|[ B T 284 2 0.7 13,017 58 0.4
65|dt L M & 0 0 0.0 9,458 82 0.9
66|48 [ T 404 7 1.7 12,345 78 0.6
67/ &K tH 26 0 0.0 2272 14 0.6
68| fE T 0 0 0.0 223 7 3.1
69|78 JIl T 0 0 0.0 51 0 0.0
0F F H 127 0 0.0 1,919 12 0.6
1\ F 1 6 1 16.7 31 0 0.0
72(%% B tH 91 1 1.1 0 0 0.0
3|F# A TF 94 2 2.1 176 0 0.0
74|88 W4 T 139 1 0.7 0 0 0.0
Bl =T 135 0 0.0 0 0 0.0
B6|F &= T 280 1 0.4 0 0 0.0
77|81 B T 201 3 1.5 0 0 0.0
185 B H 156 0 0.0 0 0 0.0
9|1 # T 840 3 0.4 965 10 1.0
80l# & T 192 1 0.5 135 4 3.0
silfs & 1 21 0 0.0 0 0 0.0
82 (%A fiil 558 1 0.2 0 0 0.0
3| BAE T 314 2 0.6 0 0 0.0
84| W T 16 0 0.0 1 0 0.0
85(# R th 16 0 0.0 706 4 0.6
86|k B 1 103 0 0.0 0 0 0.0
87l B 121 2 1.7 155 3 1.9
882 B th 304 0 0.0 16 0 0.0
89|l I Th 122 3 25 0 0 0.0
0|2 H T 0 0 0.0 361 5 1.4
a|lxX F T 205 1 0.5 0 0 0.0
2|5 B T 68 0 0.0 0 0 0.0
NB|IEXKRT 270 1 0.4 0 0 0.0
948 th TH 166 1 0.6 0 0 0.0
5|0F B T 12 1 8.3 0 0 0.0
%|E 1B TH 335 0 0.0 4 0 0.0
97|/ B T 115 0 0.0 20 1 5.0
%8lEZE B 1 119 2 1.7 1 0 0.0
0(Ff F L 89 0 0.0 179 1 0.6
100l 2 Tt 104 0 0.0 210 3 1.4
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A B (B.~Ax100) C D (D./C %x100)
101[f8 11 0 0 0.0 27 1 3.7
102l B 7h 57 0 0.0 28 0 0.0
1038 ¥ ™ 31 1 3.2 156 1 0.6
10442 11 314 0 0.0 1,047 4 0.4
1055 %1 23 0 0.0 1,380 3 0.2
106| A BB kX th 69 0 0.0 1,176 8 0.7
10/E B 175 1 0.6 1,137 8 0.7
108/ X & 360 4 1.1 410 8 2.0
1092 & T 18 0 0.0 3,987 41 1.0
1o RE ™ 850 5 0.6 0 0 0.0
118 | 162 5 3.1 0 0 0.0
112/ A ™ 47 0 0.0 0 0 0.0
13/ 8 T 103 0 0.0 134 2 1.5
R VINE 0 0 0.0 100 1 1.0
115 H Th 8 0 0.0 0 0 0.0
16|k R ™ 31 0 0.0 0 0 0.0
17|19 B h h 395 1 0.3 126 4 3.2
118[ & T 170 1 0.6 585 8 14
MR FEFHTH 0 0 0.0 1,155 2 0.2
120 &R ™ 168 0 0.0 1,052 6 0.6
121F » B ™ 4 0 0.0 0 0 0.0
RERTRE AT 19,690 101 0.5 177,751 1,266 0.7
12l F RKAK 4 1 25.0 96 0 0.0
12300 R X 16 0 0.0 0 0 0.0
12435 X 0 0 0.0 0 0 0.0
1258 B K 1,263 4 0.3 41 0 0.0
126X = X 37 0 0.0 0 0 0.0
127118 B K 189 1 0.5 0 0 0.0
1282 H K 0 0 0.0 224 2 0.9
12T & K 0 0 0.0 59 1 1.7
130[8m JIl X 33 0 0.0 861 5 0.6
31 BE K 183 0 0.0 0 0 0.0
132l K A K 0 0 0.0 25 1 4.0
133(tH A & K 0 0 0.0 131 0 0.0
134 & K 245 0 0.0 17 1 5.9
135/ §F X 337 5 1.5 0 0 0.0
136[42 i X 100 0 0.0 0 0 0.0
1372 B K 700 7 1.0 165 3 1.8
138/dt [ 21 1 4.8 82 0 0.0
139 JIl X 0 0 0.0 423 5 1.2
1404k B X 36 1 2.8 0 0 0.0
fE & X 0 0 0.0 4310 14 0.3
2R 37 K 0 0 0.0 39 0 0.0
1438 ff X 0 0 0.0 182 3 1.6
144;T F Il 0 0 0.0 396 4 1.0
&5 X 5t 3,164 20 0.6 7,051 39 0.6
Bt 40,072 255 0.6 237,332 1572 0.7
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A B (B/Ax100) C D (D./C % 100)
11 & =& 358 1 0.3 0 0 0.0
28 & B 35 2 5.7 1,034 5 0.5
3|5 F B 185 0 0.0 590 1 0.2
412 W B 32 0 0.0 1,720 7 0.4
5k @B & 86 0 0.0 181 0 0.0
6 |1l ;B 326 2 0.6 409 3 0.7
118 B B 40 1 2.5 121 1 0.8
8% W B 1,285 6 0.5 0 0 0.0
9ty K 1B 260 1 0.4 33 0 0.0
10 § B 577 2 0.3 5 0 0.0
1M £ B 1,338 7 0.5 1,606 8 0.5
12(F ¥ B 2,508 9 0.4 212 3 1.4
13| = #B 92 0 0.0 0 0 0.0
14| = Il B 31 0 0.0 11 0 0.0
1513 B8 B 474 2 0.4 15 0 0.0
16| W B 190 1 0.5 49 0 0.0
171 )l & 243 0 0.0 1,265 3 0.2
18[ta # & 262 0 0.0 545 5 0.9
9 ¥ B 436 1 0.2 0 0 0.0
20 % B 113 1 0.9 0 0 0.0
21|y B &/ 156 0 0.0 334 6 1.8
2208 WM & 544 4 0.7 55 2 3.6
23[% %1 B 616 1 0.2 18 0 0.0
24(= & B 925 2 0.2 50 1 2.0
Bl B R 545 0 0.0 2 1 50.0
26| & & 233 0 0.0 223 1 0.4
271|K PR F¥ 215 3 1.4 7,820 25 0.3
28| E B 417 0 0.0 1,787 3 0.2
2|x B & 228 1 0.4 5 0 0.0
30(F0 & W B 112 0 0.0 316 1 0.3
31|18 W & 132 0 0.0 311 2 0.6
3218 K B 149 0 0.0 971 4 0.4
33 W B 218 1 0.5 1,560 12 0.8
ML &5 B 2 0 0.0 1,873 4 0.2
Bl O B 26 0 0.0 7,905 29 0.4
B B B 45 0 0.0 2,052 2 0.1
37|1F NIl B 21 1 4.8 248 2 0.8
BT B B 74 0 0.0 1,183 6 0.5
95 &M B 41 1 2.4 552 1 0.2
0|18 M B 222 2 0.9 3,824 29 0.8
niE B B 34 0 0.0 8,564 27 0.3
2k B B 206 1 0.5 871 3 0.3
43|18 KX & 297 2 0.7 179 1 0.6
“lX 5 B 199 0 0.0 156 3 1.9
HIE B R 211 1 0.5 47 1 2.1
46| RE R 168 0 0.0 557 4 0.7
4717 B B 219 2 0.9 0 0 0.0
HERFEE 15,126 58 0.4 49,259 206 0.4




FR29FE CEFRVAMINABRERERR

RIEEFTER RAEEHEBEER

878, CEIFF [E37E. CRIATF %

DA IILRIZREREL JAILRIZREEL
2 B OF CwbEeett B O£ F OERZ KR OB TwiEaeg B £ F X

B EHFES MBI EHFES

ni=-%& (%) hi-%& (%)
(N) (N) C (N) (N) C

A B (B.~Ax100) C D (D./C %x100)
48 1%L 1R Th 0 0 0.0 37,593 57 0.2
oM & M 60 0 0.0 4,923 17 0.3
50 [ EWN=FTH 669 2 0.3 12,744 49 0.4
51| F ¥ 1 22 0 0.0 0 0 0.0
5200 kT 0 0 0.0 22,929 113 0.5
53|)I g T 210 0 0.0 8,828 40 0.5
SRR T 0 0 0.0 86 1 1.2
55131 & T 636 0 0.0 6,434 9 0.1
56|32 [ T 429 1 0.2 7,377 43 0.6
57 # T 570 1 0.2 25 0 0.0
582 ET™ 0 0 0.0 10,111 62 0.6
59|] & T 1,939 3 0.2 3,975 24 0.6
60|k Br T 491 12 2.4 0 0 0.0
61|18 T 208 3 1.4 5,436 39 0.7
62| F T 0 0 0.0 2,842 10 0.4
63| U T 6 0 0.0 717 2 0.3
64|l B T 285 1 0.4 13,486 21 0.2
654k L 9N 0 0 0.0 9,460 63 0.7
66|48 [ T 412 3 0.7 12,345 63 0.5
67|86 K T 27 0 0.0 2,266 23 1.0
68|EN fE T 0 0 0.0 222 2 0.9
69|71 JIl T 0 0 0.0 52 2 3.8
015 & & 127 0 0.0 1,930 4 0.2
M"Y\ F ™ 6 1 16.7 31 0 0.0
72| [ T 89 0 0.0 0 0 0.0
73 BH ™ 93 0 0.0 177 0 0.0
74(88 WU T 139 3 2.2 0 0 0.0
BlLybh & 136 1 0.7 0 0 0.0
76|F & = T 249 1 0.4 0 0 0.0
77181 % T 200 0 0.0 0 0 0.0
18l B T 156 0 0.0 0 0 0.0
90 # ™ 835 1 0.1 965 3 0.3
gl & T 193 0 0.0 135 3 2.2
gilfin & T 21 0 0.0 0 0 0.0
82 |48 il 560 0 0.0 0 0 0.0
3|1 B E T 314 0 0.0 0 0 0.0
84l i TH 12 1 8.3 1 0 0.0
85| R T 16 0 0.0 706 2 0.3
g6l % 1h 103 1 1.0 0 0 0.0
87|l B i 121 1 0.8 155 2 1.3
88|12 B T 299 1 0.3 16 0 0.0
89| B T 112 1 0.9 0 0 0.0
02 H ™ 0 0 0.0 361 9 2.5
91|K &FE T 204 0 0.0 0 0 0.0
2|l #B & 68 0 0.0 0 0 0.0
93| K [ 270 1 0.4 0 0 0.0
M2 h T 166 3 1.8 0 0 0.0
95|0F K T 12 1 8.3 0 0 0.0
9% (B & m™ 335 3 0.9 4 0 0.0
978 E ™ 116 0 0.0 20 0 0.0
B8lE B T 119 1 0.8 1 0 0.0
99 |F0 Fr L 90 2 2.2 177 2 1.1
10008 ¥ m™ 98 0 0.0 210 5 2.4
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(N) (AN) c (N) (AN) C

A B (B./AX100) C D (D./C x100)
10148 I 0 0 0.0 27 0 0.0
102l F B ™™ 57 0 0.0 28 0 0.0
1038 ¥ ™™ 31 0 0.0 156 6 3.8
1048 I 314 1 0.3 1,051 3 0.3
1055 %1 22 1 45 1,415 4 0.3
106/ A B8 * 70 2 2.9 1,176 11 0.9
1071 & 176 0 0.0 1,137 4 0.4
108K 4 359 3 0.8 407 2 0.5
109 B ™™ 18 0 0.0 3,999 3 0.1
MR E ™ 845 0 0.0 0 0 0.0
11|38 %, m™ 147 1 0.7 0 0 0.0
112/ A T 47 0 0.0 0 0 0.0
113/ #8 T 103 0 0.0 135 0 0.0
114 )\ £ F th 0 0 0.0 100 0 0.0
15 A ™ 7 0 0.0 0 0 0.0
116/ R T 31 0 0.0 0 0 0.0
117/ B th 399 1 0.3 126 0 0.0
18] & Gl 166 0 0.0 585 6 1.0
MY RKEHTH 0 0 0.0 1,155 13 1.1
120t R 168 1 0.6 1,052 4 0.4
IBIEE-E 4 0 0.0 0 0 0.0
FRFTREhET 14,187 59 0.4 179,289 726 0.4
122|F £ H X 4 0 0.0 96 0 0.0
123f & X 16 0 0.0 0 0 0.0
124] 3% X 0 0 0.0 0 0 0.0
1258 B K 0 0 0.0 41 0 0.0
1263 = K 36 1 2.8 0 0 0.0
127118 ®H K 189 0 0.0 0 0 0.0
1282 H K 0 0 0.0 224 0 0.0
12T X 0 0 0.0 57 0 0.0
130 JII =X 33 2 6.1 861 0 0.0
31 BE K 183 0 0.0 0 0 0.0
132l K A K 0 0 0.0 24 0 0.0
1331 A & K 0 0 0.0 131 0 0.0
134% B K 0 0 0.0 17 0 0.0
135(F B X 82 0 0.0 0 0 0.0
136(%2 I K 93 1 1.1 0 0 0.0
1378 B K 700 0 0.0 165 0 0.0
1384t = 25 1 40 83 0 0.0
1397 JIIl X 0 0 0.0 424 5 1.2
1404k B X 36 0 0.0 0 0 0.0
Mg E K 0 0 0.0 4310 2 0.0
142l I K 0 0 0.0 38 0 0.0
1435 i X 0 0 0.0 182 2 1.1
1445 B JII 0 0 0.0 396 1 0.3
R X 5 1,397 5 0.4 7,049 10 0.1
A&t 30,710 122 0.4 235,597 942 0.4




